%%%%%%%%=l<)t='=§0(==l<)t='=§0(=%%@F=l<>(='=¥}(==l<>(='=¥}(==K>!='=XX==K>!='=XX==l<>!='=¥}(==l<>!='=¥}(=%%@F%%@F=10(='=XX==10(='=XX==§0(='%O%'=§0(='%O%'=§0(='%O%'=§0(='%O%'=§0(='%%'=§0(='=XX='=§0(='=XX='=§0(='%%'=§0(='%O%'=§0(=%O%'%%%%%%%%%%%%%%%%%%%%%%%%

e e A A o B A e e R e e e

“g\,ﬂ‘wun"%

J,ﬂ\.&lq-ll
Fome el el i) g Mad) aglaill 505 g
- TR R TR — RN ) daaa daala
Lelainl) g Aulady) aglal) 4

Ao LiaY) o shal) acdd

mm;n LE [BRARING
BORT DO

: o sind)
ot gl 5 0y S st ,\;1M¢¢M\ xS 59
a&,»mﬁjwj)ojsmbym J}gjjgiMMMJJ

- J

~

Sardl g anatil) elaia¥) ale B jiala Balgd Jail dlaSa dadia 5 ySda

alge (8 4 BN G di)s ddUal) alas )
43U ik /2

2024/2023 : Lol Ll

B i i i i i i e e Lt L

FHE2 -0~k 0k K —H 4~ =X~k b K =1 =0k Xk Kk b K K~ R Kk k- Kk 1 K~ X Xk Kk i K - = X K k- i i —H R ki Kk k- i K = ~hE X Kk Xk —HE K < X K Kk i K —H R~k Kk Kk i K X K R K e e X K 15E



19 - 0 K e - 6 o S0 Kk R R A K A K= K K K e = Kk b b R R K K Kk kR R K 8 > 6 = U R = 0 0 b Kb R R K 0 Kk Kk R K = A0 = = K = e 0= b Kk K R K = R Kk R e e -

>\ %@ 0/

e e o i e e e T (i o e o e i (i e o e R e e e e
S S G S S S S S S S S S G S G S S G G S G S S S G W S G G S G LS G S G S S S S S G S S

=K <0k =K X0k <0 =Xk <0 <10 X0k <10 X0k =K =Xie =08 <K= =0k =0 =0k =0 <0k =0k =X =Xk =X Xl =306 <K= =0k =0 X0k =0 <0 X0k =K =Xie =0 Kk =106 =KiE =0k =0 =0 =X =0k =0 =06 =X =10 =K =Xl =0 X0k =0 <0 =108 =06 =0 <I06 =0k =X06 =K X0k =0 X0 =0 <0 =0k =06 =X =30 =Xk =10k =0 X0k =0 X0



o)
p2ld Jodl U 52V 1y sl Jry gyt Sall Y
7l )5S & ) a3l el Slle alls ol st
sy il o ol ool s sl Bl ol
chzeelly Al
ALY, Lol W) bl ALy 5)l5] oge ol o 15
By ol ol ey o S 5Ly ol SCadl oot 1S
Al gl o b desall suelldl e
Dl sy Wl s 33000 aedl ) SCally IS

o asle o iy 3les Sl 3183 il ol 0
il

ples 330




o dl Jadll

‘ -
-

-

33

rd

B
.

I’
ey
.

S (S9V

Ly o cplew

J\:‘v u"%ﬁ
I ol — )

23y 3

9

Sl

E

\

.

Sor

T ERTR T

09

O\

|

s

el L

9

ua.&-

-

3»:.“ cBJL’-

\

)

o

.

Y

.

«d

35850 A




%%%%%%%%=KX='=§O(='=KX='=§O(='=KX='=X}(='=K>!='=X}(='=K>!='=X}(='=K>!='=XX='=K>!='=XX='=K>!='=X}(='=K>!='=X}(='4%'%%'4%'%%'4%'%%'40%'4%'=§<X='40%'=§<X='40%'=§<X='40%'=§0!='40%'=§0!='40%'=§0!='#=§0!='#=§0!='#=§0!='4()%'=§0!='4()%'%#%#%%%%%%%%%%%%%%%%%%%%

e e o i i e i o Gl e e o L i e e e i e e

”

FEWA( s 5iaal)
/]] Oy S
/i e
/i Slasiaal) pugé
/] dslaad) g
/I waile
09 dadia—
10 ) + dulyall s -1
12 bl Calaal 5 auhal) daal 5 bl aaas-2
13 Liha) cladaial ¢ 4a] aalial) ypai-3
17 i yall 35aa—4
18 il a5
24 Aplall + gyeaill HLYI-6
32 Auhall dagie
32 e Ui dudjali-1
32 zeal=2
33 Gl de 5 adine =3
33 Glld) pen ilal-4
34 iilasy) cull1-5
35 leldats Auhall il mje—1
49 Gilpa il ¢ g ilinll Jylas 2
51 AL aluhall ¢ pm A Al Jalas -3

B i i i i i i e e Lt L

FHE2 -0~k 0k K —H 4~ =X~k b K =1 =0k Xk Kk b K K~ R Kk k- Kk 1 K~ X Xk Kk i K - = X K k- i i —H R ki Kk k- i K = ~hE X Kk Xk —HE K < X K Kk i K —H R~k Kk Kk i K X K R K e e X K 15E



%%%%%%%%=KX='=§O(='=KX='=§O(='=KX='=X}(='=K>(='=X}(='=K>(='=X}(='=K>!='=XX='=K>!='=XX='=K>!='=X}(='=K>!='=X}(='%%%%40%'%%'40%'4%'%40%'%40%'%40%'%40%'%40%'%#%#%#=§0(='4()%'=§0(='4()%'%#%#%%%%%%%%%%%%%%%%%%%%

e e o i i e i o Gl e e o L i e e e i e e

52 Auahyal) Cilaal s pm bl Qs — 5
53 Al il =6
54 alal)®
54 cila )y *
57 saladlly aaball Acls*
60 Gadldll *

B i i i i i i e e Lt L

FHE2 -0~k 0k K —H 4~ =X~k b K =1 =0k Xk Kk b K K~ R Kk k- Kk 1 K~ X Xk Kk i K - = X K k- i i —H R ki Kk k- i K = ~hE X Kk Xk —HE K < X K Kk i K —H R~k Kk Kk i K X K R K e e X K 15E



%%%%%%%%=l<)(='=§0(='=l<)(='=§0(='=l<)(='=¥}(='=l<>!='=¥}(='=l<>!='=¥}(='=l<>!='=¥}l='=l<>!='=¥}l='=l<>!='=¥}(='=l<>!='=¥}(='=K>!='=XX='=K>!='=XX='=KX='=XX='=KX='4%'=§<X='40%'=§<X='40%'=§<X='40%'=§0!='40%'=§0!='40%'=§0!='#=§0!='%=§0!='%=§Ol='4()%'40%'4()%'%#%#%%%%%%%%%%%%%%%%%%%%

e e o i i e i o Gl e e o L i e e e i e e

Johaadl (upgd
daiual s$——a—all o
Jdgad)
35 il s Al Al 358 ia sy 01
35 el s Lial) 2hd) 43358 masy 02
36 Al Aal s Al ol ayy58 rasy 03
36 Aagal) DAY ailail (sgial) sy 04
37 el (ssinall Cun Liall 2al 0335 mmgy 05
38 Aigall 5yall s Ll Sl Ay s aasy 06
38 pebilagi dipla s Al A )58 s 07
39 sl age s Jon o Auall 3 i e 08
Gomaxill
39 il 06Kl e (s Al o) i rUS oA 09
40 Ol £ ha) lSa Caa Al o oy aasy 10
Gomaxill
40 Sl ylgall Aall 38 QL) (520 sy 11
41 (12) o s e "™ " @ LY Al il iy 12
42 £) V) s 8 iy Sl Aleall Faalss sy 13
42 Gl 3kl £13) Gand 8 gyumatl) cpsSill Aol Jiy | 14
Sl
43 O Sl 3L A ey 3BLY) (o) Jiay 15
44 oSl 3L Gilaglaall Jlay) Je oSl 3508 Jiay 16

B i i i i i i e e Lt L

FHE2 -0~k 0k K —H 4~ =X~k b K =1 =0k Xk Kk b K K~ R Kk k- Kk 1 K~ X Xk Kk i K - = X K k- i i —H R ki Kk k- i K = ~hE X Kk Xk —HE K < X K Kk i K —H R~k Kk Kk i K X K R K e e X K 15E



%%%%%%%%=KX='=§O(='=KX='=§O(='=KX='=X}(='=K>!='=X}(='=K>!='=X}(='=K>!='=XX='=K>!='=XX='=K>!='=X}(='=K>!='=X}(='4%'%%'4%'%%'4%'%%'40%'4%'=§<X='40%'=§<X='40%'=§<X='40%'=§0!='40%'=§0!='40%'=§0!='#=§0!='#=§0!='#=§0!='4()%'=§0!='4()%'%#%#%%%%%%%%%%%%%%%%%%%%

e e o i i e i o Gl e e o L i e e e i e e

44 Ay Sl laall e CalaaY) 255 iy 17
45 CisSiall Boaall gl ) oSl Al cile )y Jiag 18
45 A Sl Agleal) ~las B o sSall o0 Sy 19
46 OsSall ALY Glia Jiag 20
46 gl LSl A (gumaill o€l el ys Aaalse Jiay 21
el oSl 3L (sl
CsSall 3L 22
47 O AL analty (g ypanill Sl gl 50 i 23
o sSiallg 3LLY)
48 0K 3L (5 siane g (g ymianill (o pralyy (3155 iag 24
‘é_x@_d\
48 paisall (oSl Cratall ol Jiag 25

B i i i i i i e e Lt L

FHE2 -0~k 0k K —H 4~ =X~k b K =1 =0k Xk Kk b K K~ R Kk k- Kk 1 K~ X Xk Kk i K - = X K k- i i —H R ki Kk k- i K = ~hE X Kk Xk —HE K < X K Kk i K —H R~k Kk Kk i K X K R K e e X K 15E



%%%%%%%%=l<)(='=§0(='=l<)(='=§0(='=l<)(='=¥}(='=l<>!='=¥}(='=l<>!='=¥}(='=l<>!='=¥}l='=l<>!='=¥}l='=l<>!='=¥}(='=l<>!='=¥}(='=K>!='=XX='=K>!='=XX='=KX='=XX='=KX='4%'=§<X='40%'=§<X='40%'=§<X='40%'=§0!='40%'=§0!='40%'=§0!='#=§0!='%=§0!='%=§Ol='4()%'40%'4()%'%#%#%%%%%%%%%%%%%%%%%%%%

e e o i i e i o Gl e e o L i e e e i e e

sl

Dl Jgall Gl 3B o) aund A gymmatl) ool e Adjea ) Auhall 134 Caags
A ehal & gl Gl g Ualy Cadagill  Jiaa 5L Agall Jabyall aal aal o sl
aaal Cpigall adail) 5 cpsSall g ¢ gl Sl 3BLY1 e Ly el 13 e Al
Jalil) prasall Aappla Uil 5 uagll zgial) o L 8 Loadie) 3 Al Va0 0 il Al

- Slapil) dana (e GEaill g pALhAl KA e ) da) e L) aainad

3L ol (A 93 (gyuianill cpeSall o) ) Bhea s Auhall Gl Al Jildss PIA e

- sieall sl

o el CeSall 3L £ )Y st ¢ (gyuannll (Sl Lalidel) GllS)
Summary :

This study aims to know the role of preparatory training in improving the
performance of vocational training teachers, given that training is one of the
most important professional stages for newly employed teachers in the
vocational training sector. A field study was conducted on this basis with a
sample of vocational training teachers, at the Vocational Training and Education
Center, Ahmed Boyana, Dayr al-Rawashda, Mila Province. In our study, we
relied on the descriptive approach and chose the method of comprehensive
survey of the sample population in order to answer the problem of the study and
verify the validity of the hypotheses.

Through analyzing the results in the field of study, we concluded that
preparatory training has a role in improving the performance of vocational
training teachers.

Keywords: Preparatory training, performance improvement, vocational training
teachers
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